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'HU� (=%�5DW� KDW� KLQVLFKWOLFK� GHU� LP� ]ZHLWHQ� +DOEMDKU������ GXUFK]XI�KUHQGHQ� OlQJHUIULVWLJHQ

5HILQDQ]LHUXQJVJHVFKlIWH� EHVFKORVVHQ�� GHQ� =XWHLOXQJVEHWUDJ� SUR� *HVFKlIW� YRQ� ���0UG�(85� DXI

���0UG�(85� ]X� YHUULQJHUQ�� 'HU� OHW]WHUH� %HWUDJ� EHU�FNVLFKWLJW� GHQ� HUZDUWHWHQ� /LTXLGLWlWVEHGDUI� GHV

%DQNHQV\VWHPV� GHV� (XUR�:lKUXQJVJHELHWV� LP� ]ZHLWHQ� +DOEMDKU������ XQG� VSLHJHOW� GHQ� :XQVFK� GHV

(XURV\VWHPV�ZLGHU�� GHQ� JU|�WHQ�7HLO� GHU� /LTXLGLWlW�ZHLWHUKLQ� �EHU� GLH�+DXSWUHILQDQ]LHUXQJVJHVFKlIWH

]XU� 9HUI�JXQJ� ]X� VWHOOHQ�� 'HU� (=%�5DW� NDQQ� ]X� %HJLQQ� GHV� QlFKVWHQ� -DKUHV� HLQH� $QSDVVXQJ� GHV

=XWHLOXQJVEHWUDJV�EHVFKOLH�HQ�


